

# Admissibility and Bayes Estimation in Sampling Finite Populations. II Author(s): V. M. Joshi Source: The Annals of Mathematical Statistics, Vol. 36, No. 6 (Dec., 1965), pp. 1723-1729 Published by: Institute of Mathematical Statistics Stable URL: <u>http://www.jstor.org/stable/2239113</u> Accessed: 16/09/2009 12:00

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <a href="http://www.jstor.org/page/info/about/policies/terms.jsp">http://www.jstor.org/page/info/about/policies/terms.jsp</a>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at http://www.jstor.org/action/showPublisher?publisherCode=ims.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is a not-for-profit organization founded in 1995 to build trusted digital archives for scholarship. We work with the scholarly community to preserve their work and the materials they rely upon, and to build a common research platform that promotes the discovery and use of these resources. For more information about JSTOR, please contact support@jstor.org.



Institute of Mathematical Statistics is collaborating with JSTOR to digitize, preserve and extend access to The Annals of Mathematical Statistics.

### ADMISSIBILITY AND BAYES ESTIMATION IN SAMPLING FINITE POPULATIONS. II

## By V. M. Joshi<sup>1</sup>

#### University of North Carolina

1. Introduction. In Part I of this paper the admissibility was investigated primarily for the class of unbiased estimates of the population total. In particular the Horvitz-Thomson estimate was shown to be admissible in the class of all unbiased estimates, (cf. Theorem 4.1 of Part I). In the following, the investigation is extended by removing the restriction of unbiasedness, with the corresponding modification of the definition of admissibility: Now some other estimate is shown to remain admissible for *all* sampling designs. The result appears to have implications concerning the basic logic of sampling with varying probabilities. These however are not discussed here.

**2.** Notation. The notation used here is the same as that formulated in the Section 2 of the Part I of this paper and is not restated here. The definitions and preliminaries, as given in that section, also apply in the following discussion. In addition for convenience of discussion, here we assume that the units u of the population U are numbered, that is  $U = (u_1, \dots, u_N)$ , N being the total number of units u in U. As a result a sample s (Definition 2.2, Part I) can now be specified by the set of integers namely the serial numbers of the units  $u \varepsilon s$ . Thus for  $u_r \varepsilon s$  now we write  $r \varepsilon s$ . Further, the variate value  $x(u_r)$  associated with the unit  $u_r$  would be denoted simply by  $x_r$ ,  $r = 1, \dots, N$ . And we have  $x = (x_1, \dots, x_N)$ , a point in Euclidean N-space  $R_N$ . Now the problem is to find an estimate (Definition 2.6, Part I), of the population total

(1) 
$$T(x) = \sum_{r=1}^{N} x_r$$

by observing those  $x_r$  for which  $r \in s$ , the sample s being drawn according to a given sampling design (Definition 2.3, Part I). We extend the Definition 2.8, in Part I, of an admissible estimate by removing the restriction of unbiasedness as follows:

DEFINITION. Given a sampling design d = (S, p), an estimate e(s, x) is said to be admissible for T in (1), if and only if there does not exist any other estimate e'(s, x) such that

(2) 
$$\sum_{s \in S} p(s)(e'(s, x) - T(x))^2 \leq \sum_{s \in S} p(s)e(s, x) - T(x))^2$$

for all  $x \in R_N$ , strict inequality holding true for at least one x.

**3.** Admissibility of an estimate. We now prove the following THEOREM. The estimate  $e^*(s, x)$  given by

(3) 
$$e^*(s, x) = (N/n(s)) \sum_{rzs} x_r$$

Received 25 March 1964; revised 28 May 1965.

<sup>&</sup>lt;sup>1</sup> On leave from Maharashtra Government, Bombay.

V. M. JOSHI

where n(s) is the sample size (Definition 2.4, Part I), is admissible for T according to the Definition in the preceding section, for any sampling design.

REMARK.  $e^*(s, x)$  can also be shown to be admissible on any subset of  $R_N$  given by  $x: c_1 \leq x_r \leq c_2$ ,  $r = 1, \dots, N, c_1$ ,  $c_2$  being some arbitrary constants with a slight obvious modification of the proof below.

**PROOF.** If  $e^*$  in (3), is not admissible, then by (2) there exists an estimate e'(s, x) such that, for all  $x \in R_N$ ,

(4) 
$$\sum_{s \in S} p(s) (e'(s, x) - T(x))^2 \leq \sum_{s \in S} p(s) (e^*(s, x) - T(x))^2$$
.

We put

(5) 
$$g(s, x) = (N - n(s))^{-1}(e'(s, x) - \sum_{r \in S} x_r),$$
$$g^*(s, x) = (N - n(s))^{-1}(e^*(s, x) - \sum_{r \in s} x_r),$$

 $n(s) \text{ being the sample size (Definition 2.4, Part I) of s. Now assuming } n(s) = N \rightarrow p(s) = 0, \text{ and putting for such } s, g = g^* = c \text{ in } (5), \text{ we have from } (4)$   $(6) \quad \sum_{s \in S} p(s)[(N - n(s))g(s, x) - \sum_{r \notin s} x_r]^2$   $\leq \sum_{s \in S} p(s)[(N - n(s))g^*(s, x) - \sum_{r \notin s} x_r]^2.$ 

(Even without this assumption, the proof needs only a slight modification. For, obviously it is enough to consider in (4) estimates e' such that e' = T, for sample s for which n(s) = N.) Now taking the expectations of both sides of (6) wrt a probability distribution of  $R_N$  such that  $x_1, \dots, X_N$  are *independently* and *identically* distributed, with a common finite discrete frequency function w, common mean  $\theta(w)$  and common variance  $\sigma^2(w)$ , we have

(7) 
$$\sum_{s \in S} p(s)(N - n(s))^2 E_w[(g(s, x) - \theta(w)) + (\theta(w) - (N - n(s))^{-1} \sum_{r \neq s} x_r)]^2 \leq \sum_{s \in S} p(s)(N - n(s))^2 E_w + [(g^*(s, x) - \theta(w)) + (\theta(w) - (N - n(s))^{-1} \sum_{r \neq s} x_r)]^2.$$

The existence of  $E_w$  in (7) follows from the finite discreteness of the frequency function w. Now noting that the expectations of the product terms on both sides of (7) vanish due to the independence of  $x_1, \dots, x_N$  and cancelling out the common term  $\sum_{s \in S} p(s)(N - n(s))^2 \sigma^2(w)$  on both sides of (7), we get

(8) 
$$\sum_{s \in S} p(s)(N - n(s))^2 E_w(g(s, x) - \theta(w))^2$$
  
 $\leq \sum_{s \in S} p(s)(N - n(s))^2 E_w(g^*(s, x) - \theta(w))^2.$ 

Since  $x_r$ ,  $r = 1, \dots, N$  are distributed independently and identically we replace in h(s, x) and  $h^*(s, x)$  in (8) the variates  $x_r$ ,  $r \varepsilon s$ , in some order by  $x_1, x_2, \dots, x_m$  respectively, and let

(9) 
$$h(s, x)$$
 and  $h^*(s, x)$  denote the resulting

values of g(s, x) and  $g^*(s, x)$ , respectively.

1724

Next putting in (7),

(10) 
$$\sum_{s \in S_m} p(s)h(s, x) = P_m \phi_m(x)$$

where  $S_m$  is the set of all samples s with fixed size m, i.e. n(s) = m and  $P_m = \sum_{s \in S} p(s)$ , we have

(11)  

$$\sum_{s \in S} p(s)(N - n(s))^2 E_w(h(s, x) - \theta(w))^2$$

$$= \sum_{m=1}^N (N - m)^2 \sum_{s \in S_m} p(s) E_w(h(s, x) - \phi_m(x))^2$$

$$+ \sum_{m=1}^N (N - m)^2 P_m E_w(\phi_m(x) - \theta(w))^2.$$

Now if in (10) h(s, x) is replaced by  $h^*(s, x)$  in (5) and  $\phi_m(x)$  by  $\phi_m^*(x)$ , then from (3), we get

(12) 
$$h^*(s, x) = \phi_m^*(x) = \sum_{r=1}^{n(s)} x_r/n(s).$$

Hence from (11) and (12)

(13) 
$$\sum_{s \in S} p(s)(N - n(s))^2 E_w (h^*(s, x) - \theta(w))^2 = \sum_{m=1}^N P_m (N - m)^2 (\phi_m^*(x) - \theta(w))^2.$$

And further from (8), (11) and (13) we get

(14)  

$$\sum_{m=1}^{N} (N-m)^{2} \sum_{s \in S_{m}} p(s) E_{w}(h(s, x) - \phi_{m}(x))^{2} + \sum_{m=1}^{N} (N-m)^{2} P_{m} E_{w}(\phi_{m}(x) - \theta(w))^{2} \leq \sum_{m=1}^{N} (N-m)^{2} P_{m} E_{w}(\phi_{m}^{*}(x) - \theta(w))^{2}.$$

That is

(15) 
$$\sum_{m=1}^{N} (N-m)^2 P_m E_w (\phi_m(x) - \theta(w))^2$$
  
 $\leq \sum_{m=1}^{N} (N-m)^2 P_m E_w (\phi_m^*(x) - \theta(w))^2.$ 

Now from (15) and Lemma 1 in the next section we get if  $P_m \neq 0$ ,

(16) 
$$\phi_m(x) = \phi_m^*(x)$$

for all  $x \in R_N$ . Further, substituting (16) in (14) we have

(17) 
$$E_w(h(s, x) - \phi_m^*(x))^2 = 0$$

for all samples s having  $p(s) \neq 0$ . Next from (17) and Lemma 2, in the next section, we have

(18) 
$$h(s, x) = \phi_m^*(x)$$

for all s having  $p(s) \neq 0$  and all x. Further from (5), (12), (18) and (19) follows the result

(19) 
$$e'(s, x) = e^*(s, x)$$

1725

Now (4) and (19) imply the Theorem stated at the beginning of this section.

It is interesting to note that using a result due to Hodges and Lehmann (1951) establishing the admissibility of sample mean, wrt squared error as loss, for the mean of a normal population with unit variance, we can from (15) straightaway deduce, that a.e. in  $R_m$ ,

(20) 
$$\phi_m(x) = \phi_m^*(x)$$

for a fixed sample size design (i.e. p(s) = 0 if  $n(s) \neq m$ ). Note here we have not used Lemma 1. Apart from the restriction of fixed sample size design in (20), it is important that  $\phi_m(x) = \phi_m^*(x)$  in (20) is established for almost all points in  $R_m$ ; while what we need for establishing our ultimate result is  $\phi_m(x) = \phi_m^*(x)$ for all points in  $R_m$ , which is achieved in (16) with the help of Lemma 1.

It is also worth while to note that Aggarwal (1959) has already investigated the minimaxity of the estimate  $e^*(s, x)$  in (3), on a certain subset of  $R_N$ . However he restricts himself to simple random sampling without replacement with fixed number of draws. In contrast, we establish the admissibility of the estimate  $e^*$  for any sampling design (Definition 2.3, Part I) what so ever. Further the subset of  $R_N$  considered by Aggarwal is given by  $x = (x_1, \dots, x_N)$ :  $\sum_{r=1}^{N} (x_r - T(x)/N)^2 \leq \text{const.}$  while our Remark following the Theorem in this section establishes the admissibility of  $e^*(s, x)$  on a practically much more realistic subset of  $R_N$  as explained in Section 3 of Part I of this paper.

4. Lemmas. Now we would prove the lemmas referred to in the last section. LEMMA 1. If

(a)  $x_1, x_2, \dots, x_N$  are independently and identically distributed real random variates,

- (b) for every  $m = 1, \dots, N, \phi_m(x)$  is a real function of  $x_1, x_2, \dots, x_m$ ,
- (c) for every  $m = 1, \dots, N, \bar{x}_m = (1/m) \sum_{i=1}^m x_i$ ,
- (d) for every common finite discrete frequency function w of  $x_1, \dots, x_N$ ,

$$\sum_{m=1}^{N} A_m^2 E_w (\phi_m(x) - \theta(w))^2 \leq \sum^{N} A_m^2 E_w (\bar{x}_m - \theta(w))^2,$$

 $E_w$  denoting the expectation,  $\theta(w)$  the common mean of  $x_1, \dots, x_N$  and  $A_m$ ,  $m = 1, \dots, N$  being arbitrary real constants, then for every  $x = (x_1, x_2, \dots, x_N)$  $\varepsilon R_N$ ,  $\phi_m(x) = \bar{x}_m$  for all  $m, m = 1, \dots, N$  for which  $A_m \neq 0$ .

**PROOF.** Let  $B_k \subset R_N$  be such that if  $x = (x_1, \dots, x_r, \dots, x_N) \varepsilon B_k$  then  $x_r, r = 1, \dots, N$  contain k or less distinct values. Now by the condition (d) of the Lemma 1, considering the discrete frequency function w which is zero every where except at one point, we have, for all  $x \varepsilon B_1$ ,

(1<sup>\*</sup>) 
$$\phi_m(x) = \bar{x}_m$$
 for all  $m = 1, \dots, N$  such that  $A_m \neq 0$ .

Further in the next paragraph, we prove that if  $(1^*)$  holds for  $x \in B_{k-1}$  then it also holds for all  $x \in B_k$ , which would mean  $(1^*)$  holds for all  $x \in B_N = R_N$ , proving the Lemma 1.

Let the common frequency function of  $x_1, \dots, x_N$ , referred to in the condition (d) of the Lemma 1, be zero except at k specified distinct values namely,

 $w(t_i) = p_i, p_i > 0, i = 1, \dots, k$  and  $\sum_{i=1}^k p_i = 1$ . This frequency function clearly gives positive probability only to those points  $x = (x_1, \dots, x_r, \dots, x_N)$  for which  $x_r, r = 1, \dots, N$  is one of the values  $t_1, \dots, t_k$ . Let these points x constitute the set  $B_k(t_1, \dots, t_k)$ . Then  $B_k(t_1, \dots, t_k) \subset B_k$  defined in the beginning of this proof.

Throughout the remainder of the proof, summations over all  $x \in B_k(t_1, \dots, t_k)$ ,  $x(m) \in D_{mk}(t_1, \dots, t_k)$  and  $x(m) \in D'_{mk}(t_1, \dots, t_k)$  will be indicated by  $\sum_{B_k}$ ,  $\sum_{D_{mk}} \sum_{m_k} \sum_{D'_{mn}} \sum_{m_k} \sum_{$ 

Now writing

$$(2^*) \qquad \qquad \phi_m(x) = \bar{x}_m + h_m(x),$$

we have from (d)

(3\*) 
$$\sum_{m=1}^{N} A_m^2 \sum_{B_k} h_m(x) (\bar{x}_m - \theta) \prod_{i=1}^{k} p_i^{g(i_i, x)} \leq 0,$$

 $g(t_i, x)$  denoting for each  $x = (x_1, \dots, x_r, \dots, x_N)$  the total number of those  $x_r, r = 1, \dots, N$ , which are equal to  $t_i$ . Note, for all  $x \in B_k(t_1, \dots, t_k)$ ,  $\sum_{i=1}^k g(t_i, x) = N, g(t_i, x) \ge 0$  and

(4\*) 
$$\theta = \sum_{i=1}^{N} p_i t_i.$$

Now let  $D_{mk}(t_1, \dots, t_k) \subset R_m$  the *m*-space of the points  $x(m) = (x_1, \dots, x_m)$ , the first *m* coordinates of  $x = (x_1, \dots, x_N)$ , such that

(5<sup>\*</sup>) 
$$x(m) \in D_{mk}(t_1, \dots, t_k)$$
 if and only if  $x \in B_k(t_1, \dots, t_k)$ .

Since  $h_m(x)$  and  $\bar{x}_m$  are defined on  $R_m$ , by summing in (3<sup>\*</sup>) for all  $x \in B_k(t_1, \dots, t_k)$  with a common x(m), we have,

(6\*) 
$$\sum_{m=1}^{N} A_m^2 \sum_{D_{mk}} h_m(x) (\bar{x}_m - \theta) \prod_{i=1}^{k} p_i^{g(i_i, x(m))} \leq 0,$$

where  $g(t_i, x(m))$  is the total number of co-ordinates in  $x(m) = (x_1, \dots, x_m)$ which are equal to  $t_i$ ,  $i = 1, \dots, k$ . Note that for every  $x(m) \in D_{mk}(t_1, \dots, t_k)$ ,  $g(t_i, x(m)) \ge 0$ ,  $i = 1, \dots, k$ ,  $\sum_{i=1}^k g(t_i, x(m)) = m$ , and

(7<sup>\*</sup>) 
$$(1/m) \sum_{i=1}^{k} t_i g(t_i, x(m)) = \bar{x}_m$$

Now in  $(6^*)$  let

$$(8^*) \qquad D_{mk}(t_1, \cdots, t_k) = D'_{mk}(t_1, \cdots, t_k) + D^2_{mk}(t_1, \cdots, t_k),$$

where  $x(m) = (x_1, \dots, x_m) \varepsilon D'_{mk}(t_1, \dots, t_k)$  if and only if  $x_1, \dots, x_m$  contain all the distinct values  $t_1, \dots, t_k$ . Now we assume that  $(1^*)$  holds for  $x \varepsilon B_{k-1}$ . Since this assumption obviously means  $A_m \neq 0 \Rightarrow h_m(x) = 0$  if the coordinates of x(m) contain less than k distinct values, we have for  $m = 1, \dots, N$ ,

(9<sup>\*</sup>) if 
$$A_m \neq 0$$
 in (8<sup>\*</sup>) for all  $x(m) \in D^2_{mk}(t_1, \dots, t_k)$ ,  $h_m(x) = 0$ .  
From (6<sup>\*</sup>) and (9<sup>\*</sup>)

(10\*) 
$$\sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} h_m(x) (\bar{x}_m - \theta) \prod_{i=1}^{k} p_i^{g(t_i, x(m))} \leq 0.$$

V. M. JOSHI

We note that in  $(10^*)$ ,

(11<sup>\*</sup>) 
$$g(t_i, x(m)) \ge 1, \qquad i = 1, \dots, k.$$

Next we substitute  $(4^*)$  and  $(7^*)$  in the left hand side of  $(10^*)$  and multiply it by  $1/\prod_{i=1}^k p_i$ . The resulting expression (note here  $(11^*)$ ) is further integrated over the domain

$$Q = [p_1, \dots, p_k: p_i > 0, i = 1, \dots, k \text{ and } \sum_{i=1}^k p_i = 1]$$

We then have

(12\*)  

$$\sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} \int_{Q} h_m(x) (\bar{x}_m - \theta) \prod_{i=1}^{k} p_i^{g(t_i, x(m)) - 1} \prod_{i=1}^{k-1} dp_i$$

$$= \sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} h_m(x) \int_{Q} (\sum_{j=1}^{k} (g(t_j, x(m))/m - p_j)t_j)$$

$$\cdot \prod_{i=1}^{k} p_i^{g(t_i, x(m)) - 1} \prod_{i=1}^{k-1} dp_i$$

$$= 0,$$

as for every j,

$$\int_{\mathbf{Q}} t_j(g(t_j, x(m))/m - p_j) \prod_{i=1}^k p_i^{g(t_i, x(m))-1} \prod_{i=1}^{k-1} dp_i = 0.$$

[Note that:

 $\int_{Q} \prod_{i=1}^{k} p_i^{n_i-1} \prod_{i=1}^{k-1} dp_i = [\Gamma(\sum_{i=1}^{k} n_i)]^{-1} \prod_{i=1}^{k} \Gamma(n_i) \quad \text{for } n_i \ge 1, i = 1, \cdots, k$ Now because of (10<sup>\*</sup>) the integrand in (12<sup>\*</sup>)  $\le 0$  and is also continuous in

Now because of  $(10^*)$  the integrand in  $(12^*) \leq 0$  and is also continuous in  $p = (p_1, \dots, p_k)$  for all  $p \in Q$ . Therefore from  $(12^*)$ , we have

(13\*) 
$$\sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} h_m(x) (\bar{x}_m - \theta) \prod_{i=1}^{k} p_i^{g(t_i, x(m)) - 1} = 0$$

for all  $p \in Q$ . Next the condition (d) of the Lemma also gives in place of  $(3^*)$ , the stronger relation

(14\*) 
$$\sum_{m=1}^{N} A_m \sum_{B_k} [h_m^2(x) + 2h_m(x)(\bar{x}_m - \theta)] \prod_{i=1}^{k} p_i^{\theta(t_i, x)} \leq 0.$$

Then proceeding exactly as from  $(3^*)$  to  $(10^*)$  and lastly dividing by  $\prod_{i=1}^k p_i$ , from  $(14^*)$ , we have for all  $p \in Q$ ,

$$(15^*) \quad \sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} [h_m^2(x) + 2h_m(x)(\bar{x}_m - \theta)] \prod_{i=1}^{k} p_i^{\theta(t_i, x(m)) - 1} \leq 0.$$

Further from  $(13^*)$  and  $(15^*)$  we get

(16\*) 
$$\sum_{m=1}^{N} A_m^2 \sum_{D'_{mk}} h_m^2(x) \prod_{i=1}^{k} p_i^{g(t_i, x(m))-1} \leq 0$$

for all  $p \in Q$ . Next considering the inequality (16<sup>\*</sup>) for a point  $p = (p_1, \dots, p_k) \in Q$ , we have

(17<sup>\*</sup>) 
$$A_m \neq 0 \Rightarrow h_m(x) = 0$$
 for all  $x(m) \in D'_{mk}$   $(t_1, \dots, t_k)$ .

Thus from  $(8^*)$ ,  $(9^*)$  and  $(17^*)$  we have, for  $m = 1, \dots, N$ ,

(18<sup>\*</sup>) 
$$A_m \neq 0 \Rightarrow h_m(x) = 0$$
 for all  $x(m) \in D_{mk}(t_1, \dots, t_k)$ .

1728

But since  $h_m(x)$  is a function of  $x_1, \dots, x_m$  we have from  $(5^*)$ ,  $(18^*)$ 

(19<sup>\*</sup>) 
$$A_m \neq 0 \Rightarrow h_m(x) = 0$$
 for all  $x \in B_k(t_1, \dots, t_k)$ .

Further since the set  $B_k$  as defined in the beginning of this proof satisfies  $B_k = \bigcup_{t_1,\dots,t_k} B_k(t_1,\dots,t_k)$ , we have from (19<sup>\*</sup>), for  $m = 1, \dots, N$ ,  $A_m \neq 0 \Rightarrow h_m(x) = 0$  for all  $x \in B_k$ , which along with (2<sup>\*</sup>) means that, for  $m = 1, \dots, N$ , (20<sup>\*</sup>)

(20) 
$$A_m \neq 0 \Rightarrow \phi_m(x) = x_m$$
 for all  $x \in B_k$ .

Thus as stated in the first paragraph of this proof, the Lemma 1 is proved by induction.

LEMMA 2. If

(a)  $x_1, \dots, x_m$  are independently and identically distributed real random variates,

(b) G(x) and H(x) be real functions of  $x = (x_1, \dots, x_m) \varepsilon R_m$ ,

(c) for every common discrete frequency function w of  $x_1, \dots, x_m$ ,  $E_w(g(x) - H(x))^2 = 0$ ,

then G(x) = H(x) for all  $x = (x_1, \dots, x_m) \varepsilon R_m$ .

**PROOF.** Let the common frequency function w in the condition (c) of this Lemma be zero, except at m specified values, namely  $w(t_i) = p_i$ ,  $p_i > 0$ ,  $i = 1, \dots, m$  and  $\sum_{i=1}^{m} p_i = 1$ . This frequency function clearly gives positive probability say P(x) only to those points  $x = (x_1, \dots, x_r, \dots, x_m)$  for which  $x_r, r = 1, \dots, m$  is one of the values  $t_1, \dots, t_m$ . Let these points x, constitute the set  $B(t_1, \dots, t_m)$ . So that in condition (c) of this Lemma,

$$E_w(G(x) - H(x))^2 = \sum_{x \in B(t_1, \dots, t_k)} P(x)(G(x) - H(x))^2 = 0,$$

which implies G(x) = H(x) for all  $x \in B(t_1, \dots, t_m)$  and as  $t_1, \dots, t_m$  are arbitrary, the result G(x) = H(x) for all  $x \in R_m$  follows.

Acknowledgment. The author is indebted to Professor V. P. Godambe for guidance in this work, to Dr. J. Hájek for many helpful suggestions, to the referee for a thorough going scrutiny of this paper, and to Miss Patkar for doing the necessary typing very carefully.

#### REFERENCES

AGGARWAL, O. P. (1959). Bayes and minimax procedures in sampling from finite and infinite populations-I. Ann. Math. Statist. 30 206-218.

HODGES, J. L., JR. and LEHMANN, E. L. (1951). Some applications of the Crámer-Rao inequality. Proc. Second Berkeley Symp, Math. Statist. Prob. 13-22. Univ. of California Press.